
 
 

MATEMATIK 
TAHUN 5  

KSSR SEMAKAN 
 
 

WANG 
 

OPERASI BERGABUNG MELIBATKAN WANG 
 

 
 
NAMA : 
KELAS : 
NAMA GURU :  
 
 
 
 
 
 
 



Cuba ini (soalan buku teks ms103) 
 

1. Selesaikan 
 

a) RM1 502 + 7 × RM2 865 =  
 
 
 
 
 
 

b) 5 × RM4 857 − RM2 142.80 =  
 
 
 
 
 
 

c) RM45 193.05 + RM28 837.25 × 12 =  
 
 
 
 
 
 

d) RM653 008 − RM25 842.70 × 16 =  
 
 
 
 
 
 
 

e) RM284 703.80 + RM43 879 ÷ 25 =  
 
 
 
 
 



f) RM109 275.60 − RM32 760 ÷ 18 =  
 
 
 
 
 
 

2. Hitung  

a) RM3 484.65 + RM4 092.80) × 9 =  

 

 

 

b) (RM192 558.80 ÷ 28) – RM5 854.75 =  

 

 

 

c) RM118 549.45 – (26 × RM4 091.90) =  

 

 

 

d) RM767 041.88 + (RM505 050 ÷ 100) =  

 


